
MULTIPLYING BY WHOLE TENSMULTIPLYING BY WHOLE TENS  
(MISSING FACTOR)(MISSING FACTOR)  

FIND THE MISSING NUMBERS:

GRADE 3 MULTIPLICATION WORKSHEET 

1) 80 × __________ = 800 

2) __________ × 50 = 3000 

3) 80 × __________ = 6400 

4) 40 × __________ = 2400 

5) __________ × 70 = 1400 

6) __________ × 300 = 6000 

7) 30 × __________ = 6000 

8) 60 × __________ = 4200 

9) __________ × 60 = 6000 

10) __________ × 20 = 1200 

11) __________ × 100 = 8000 

12) __________ × 160 = 4800 

13) __________ × 30 = 3600 

14) __________ × 80 = 4000 

15) __________ × 60 = 7200 

16) __________ × 180 = 7200



MULTIPLYING BY WHOLE TENSMULTIPLYING BY WHOLE TENS  
(MISSING FACTOR)(MISSING FACTOR)  

FIND THE MISSING NUMBERS:

GRADE 3 MULTIPLICATION WORKSHEET 

1) 80 × __________ = 4000 

2) 20 × __________ = 800 

3) __________ × 100 = 1000 

4) 260 × __________ = 2600 

5) 30 × __________ = 1800 

6) 50 × __________ = 8000 

7) __________ × 50 = 3000 

8) 40 × __________ = 4000 

9) 20 × __________ = 1400 

10) 240 × __________ = 4800 

11) 20 × __________ = 5600 

12) 120 × __________ = 1200 

13) __________ × 10 = 1400 

14) 20 × __________ = 6000 

15) 100 × __________ = 2000 

16) 50 × __________ = 7000



MULTIPLYING BY WHOLE TENSMULTIPLYING BY WHOLE TENS  
(MISSING FACTOR)(MISSING FACTOR)  

FIND THE MISSING NUMBERS:

GRADE 3 MULTIPLICATION WORKSHEET 

1) 40 × __________ = 2400 

2) 20 × __________ = 2800 

3) __________ × 120 = 7200 

4) 40 × __________ = 7200 

5) 10 × __________ = 400 

6) 60 × __________ = 3000 

7) 240 × __________ = 7200 

8) __________ × 260 = 5200 

9) 30 × __________ = 1800 

10) __________ × 30 = 4800 

11) __________ × 10 = 1800 

12) __________ × 100 = 8000 

13) 60 × __________ = 6000 

14) 120 × __________ = 2400 

15) 20 × __________ = 6000 

16) 40 × __________ = 1200



MULTIPLYING BY WHOLE TENSMULTIPLYING BY WHOLE TENS  
(MISSING FACTOR)(MISSING FACTOR)  

FIND THE MISSING NUMBERS:

GRADE 3 MULTIPLICATION WORKSHEET 

1) __________ × 20 = 1600

2) 200 × __________ = 2000

3) 180 × __________ = 1800

4) __________ × 60 = 3600

5) 40 × __________ = 5600

6) 30 × __________ = 1200

7) __________ × 90 = 1800

8) __________ × 140 = 5600 

9) __________ × 20 = 1400

10) 30 × __________ = 4200

11) __________ × 180 = 3600

12) 60 × __________ = 2400

13) 40 × __________ = 1600

14) __________ × 280 = 5600

15) __________ × 90 = 5400

16) 10 × __________ = 3000


